[image: image1.png]V

'y\\

o

@\

Rgg. No.:| ‘ . l

Question Paper Code : 89334
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XCS 233 — DATA STRUCTURES
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Engineering) .
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Answét ALL questions.

PARTA—(0x2= 20 marks)
Compare linear and non-linear data structures.

A two dimensional array A[5][8] is.stored in column major ordér using the base
address of 1001. Assume the element size is L. :

Find the address of the element A[4][5].

What is-simulation? State the advantages of simulation

Write an qlgorithm to count the number of nodes present in a linked list.
Define complete b'?nary tﬁe. Give an example.

Write preorder and postorder'travereal of following binary tree. -




[image: image2.png]7. Whatiscut vertex? Identify the cut vertex (if any) in the following graph.

8. ‘Deﬁne minimum spanning tx;ee. Is it unique for the given gt.aph?
9. Give the meaning of ﬁtst‘ﬁt, best fit and worst ﬂt.in the memory allocation.
10.  What is compaction?

PART B — (5 x 16 = 80 marks)

11. (a) ()  Compare the data storage in Register, Main memory, Flip flop and
. Magnetic memory. . (6)

(i) Explain call by value and call by reference with an example. (10)
. Or
() (@) Define Big O notation.

Write an algorithm for the multiplication of two matrices of size
n * n. Give its compléexity. . )

‘(i) Write a recursive procedure to find n* Fibonacci number.
I

Explain data storage in stack associated with above -recursion
’ a0

12) (a) @) Whatis priority queue? State ite advantages. [(5)]

(i) Assume a linked list is having n nodes. The list is addressed by a
pointer variable START. Write an algorithm to reverse the linked
list by exactly traversing one time. through the list. (10)
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List out the advantages;and disadvantages of linked list and
doubly linked list. (6)

How does the polynomial be represented  using linked list.
Represent_the polynomial P(x,y,2) = ax® + bxy + cy? + xyz using

linked list. 10) -
What is linked dictionary? Explain. . ®) .
Explain threaded binary tree with h;\ é_xample. . (10)

' ) Or
Convert the following tree into binary tree. . } (G)
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What. is symbol table? Write down the steps used in entering a

name into symbol table. . (10)
‘What is sparse matrix? State its advantages. ' (C))] '

Explain the following with respect to graph. . {4x3)
1. Weighted graph
2. Degree of a node .

3. Path

‘4. Directed Acyclié Graph

Or



[image: image4.png]15.

®)

@

®)

@)

@
@

@
()

Compare BFS and DFS. ()]

. Write DFS algorithm. : 10

Trace the algorithm of the following groph starting from
node A. ’

‘Write a note on garbage collection. (6)

Explain the structure of sequential file. 10)
- Or

Diséuss buddy system. {6)

Explain indexed sequential file organization. (10)




